Lecture 20 CH131 Summer 1
Wednesday, June 26, 2019

* Complete practice problems
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Electrochemistry practice problem: 17:35

K =28 X% 1()31, SO orange 35. By using the half-cell potentials in Appendix E, calculate the
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Eqmllbrlum constant at 25°C for the reaction in mﬂll
,g_., Dichromate ion (Cr0%7) is orange, and Cr*” "E‘I]Eht
gte&n in aqueous solution. If 2.00 L of 1.00 M_HCIO; solu-
tion is added to 2.00 L of 0.50 M Cr(NQO;); solution, what

3% é.wo‘ﬂ color will the resulting SG' ion have?
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Electrochemistry practice problem: 17.39

[H;07] = 2.9 x 1073
K, = [H30+]
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39. A galvanic cell consists of a Pt |H;0*(1.00 M) | H,(g) cathode

connected to a Pt H;0 " (ag) H;[gT anode I which the con-
centration of H;O ™ is unknown but is kept constant by the
action of a buffer consisting of a weak acid, I—I%LD 10 M),
mixed with its conjugate base, A~(0.10 (0.10 M). ‘ThEmeasured
cell potential is E.y =0.150 V at 25°C, with a hydrogen
pressure of 1.00 atim at both electmﬂ?ﬂ*&“ﬂw pH in
the buffer solution, and from it determine tt @-‘ the weak

acid.
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sty practice problem: 17.41 >
Quade. = ofdalon s C

-—
25 X 41. A galvanic cell is constructed in which the overall reaction is

sy v 280 —- 2&0{1%) YZe~ ‘ Bro(0) + Haff(g) + 2 H:0() —> 2 Br(ag) + 2 H:O" (ag) l
- o 4 {a) Calculate E° for this cell i
£: 0,15 —EC¢|4) |

_ (b) Silver ions are add msccipitates at the cath-
= I 665\/ — O ode and [Ag'] r The cell potential is
= ,065\/ then measured to @€ Ind = 1.0 atm.

E E - O\Oﬁql-z @[@ Calculate [Br™ ] underthess o5
(c) Calculate the solubility pmduct constant K, for AgBr.
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